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QUESTION 1

Given: 

12.

 canvas.repaint(x1,y1,wd,ht); 

13.

 canvas.repaint(x2,y2,wd,ht); 

14.

 canvas.serviceRepaints(); Which two are true? (Choose two.) 

A. serviceRepaints() blocks waiting for paint() to return. 

B. paint() is called three times, once for each repaint() and once for serviceRepaints(). 

C. paint() is always called twice, once for each repaint() request. 

D. If the two regions specified in repaint() overlap, repaint() may attempt to paint the union of the two areas. 

Correct Answer: AD 

 

 

QUESTION 2

Which two are true regarding a device that implements JTWI? (Choose two.) 

A. The device must implement at least the lowest version of the API as identified by the JTWI specification. 

B. The device may implement a higher version of the API as identified by the JTWI specification. 

C. The device must implement the highest version of the API as identified by the JTWI specification. 

D. The device is NOT required to implement all of the MIDP 2.0 API as identified by the MIDP 2.0 specification. 

Correct Answer: AB 

 

QUESTION 3

Which three statements are true regarding the handling of wireless connections? (Choose three.) 

A. Network connections should never be performed on a separate thread, so problems can be handled quickly. 

B. Performing network operations on the same thread used by the display is likely to block refreshes of the display until
the network operations complete. 
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C. The connection could unexpectedly terminate while processing the input or output streams. 

D. Devices can only support one HttpConnection at a time; therefore, network access from multiple threads must be
serialized. 

E. A network connection could interfere with other services on the device, such as the ability to receive phone calls or
SMS on a phone. 

Correct Answer: BCE 

 

QUESTION 4

Given: 

21.

 MessageConnection mc; 

22.

 mc = (MessageConnection) Connector.open("sms://:6222"); 

23.

 mc.setMessageListener(this); 

24.

 reader = new MsgReader(); 

25.

 new Thread(reader).start(); 

26.

 //... 

35.

 public void notifyIncomingMessage(MessageConnection mc2) { 

36.

 //... 

40.

 } 

41.

 //... 

50.
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 class MsgReader implements Runnable { 

51.

 //... 

55. } 

Which two are true? (Choose two.) 

A. This MIDlet uses asynchronous WMA message handling. 

B. This MIDlet must have a MIDlet-Push- entry in its JAD file. 

C. This MIDlet must contain a call to PushRegister.registerConnection(). 

D. This MIDlet uses synchronous WMA message handling. 

E. This MIDlet typically includes a method call such as: mc.receive(). 

Correct Answer: AE 

 

 

QUESTION 5

Which URL indicates the intention for one JTWI device to communicate with another JTWI device? 

A. cbs://+18005551234 

B. cbs://+18005551234:1234 

C. sms://+18005551234:1234 

D. sms://+18005551234 

Correct Answer: C 
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